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000000 O O interface, public abstract class Equipment {
private String name. //LJ OO public abstract double netPrice(). //0
[ O O public abstract double discountPrice(). /00 O 0O OO O [
public boolean add(Equipment equipment) { return false. } //00 [
0 0O 0O O public boolean remove(Equipment equipment) { return
false. }//O000O00O0O0OO0OO0OO0OO0OOOOO0O



[0 O O public Iterator iter() { return null. } public EQuipment(final
String name) { this.name=name. } } 1 [J {1 Equipment[]
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000000000 public class Disk extends Equipment { public
Disk(String name) { super(name). } //00 O Diskd 00 O 1 public
double netPrice() {return 1.} /0 0 O diskO O O O O0500 O
public double discountPrice() { return 0.5.}}Disk0 O O O 0O O O
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